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Part A

Answer any five questions. Each question carries 2 marks.

1. What is speculation?

2. What is rights issue?

3. Briefly explain the regulatory authority of capital markets in India.
4. What is meant by settlement?

5. What is the role of P/E ratio in making buy and sell decision?

6.  What do you mean by weak form of market efficiency?

7. Wirite a note on Sharpe's single index model.
(5%2 = 10 Marks)
Part B

Answer any five questions. Each question carries 6 marks.

8. Define the term investment and explain the different types of investment.
9. Explain the trading and settlement process in secondary markets.

10. What is the meaning of the term risk? Explain the factors contributing to risk.
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16.

17.

The GSK drug company has been experincing 15 % decline per year in its cash divid
growth rate for the past few years, and this decline is expected to continue.The company
has a current dividend of Rs.4/- per share.|f the required rate of return is 20% what is the
value of the stock.

How can an analysis of industry and company help an investor in making better
investment decisions?

What is breadth of market.How is it used?

What are formula plans? Explain the different formula plans used in portfolio revision.
(5%6 = 30 Marks)
Part C
Answer any two questions. Each question carries 10 marks.

Question number 17 is compulsory .

Mr. Ram invested in equity shares of Wipro Ltd., its anticipated returns and associated

probabilities are given below: You are required to calculate the expected rate of return

and risk in terms of standard deviation.

|Return (%) [-15]-10 ] 5 10 15 2? 30

]Probability | .05 .10 .15 25| .30 .101 .05 |
J &4

J

What do you think as the reason behind the dominant Indian Institutional investors not
resorting to active portfolio revision?

Compulsory Question

SBI and ICICI are two mutual funds. SBI has a sample mean of success 0.13 and fund
ICICI has a sample mean of success 0.18, with the riskier fund ICICI having double the
beta at 2.0 as fund SBI. The respective standard deviations are 15% of ICICI and 18% of
SBI. The mean return for market index is 0.12, while the risk-free return is 8%. (a)
Compute the Jensen index for each of the funds. What does it indicate? (b) Compute the
Treynor index for the funds. Interpret the results and compare it to the Jensen index. (c)
Compute the Sharpe index for funds and the market.

(2x10 = 20 Marks)
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